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B.TECH.
Theory Examination (Semester-IV) 2015-16
ELECTRONIC CTRCUITS
Time : 3 Hours Max. Marks : 100
Section-A

Q1. Attempt all parts, All parts carry equal marks.
(10x2=20)

(s) What do you mean by voltage follower circuit ? explain
in brief.

(b)  Why Op Amp is rarely used in open loop configuration?

(c) What is Barkhausen criteria for sinusoidal cscillations

{d) Draw the current mirror cincuit and write its output cur-

rent equation.
(¢) State the properties of negative feedback.
{fiy What are the advantages of using an active load in
{g) What are the rypes of feedback ?
(1) PT.O.
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Q4. (a)

(b)

Q5. (=)

(®)
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voltage + 10V and slew of rate of 1V/uS. What is its

full power band width.

Consider the common emitter circuit using a BIT

having 110 A, A collector resistance Ro=68 K02

and power supply Vi =10V.

(i) Determine the value of bias voltage Vs required
to operate the transistor at Vi=3.2V .what is the
corresponding value of L.

(ii) Find the voltage gain A, at this bias point.

(iii)If the input sine wave of SmA peak amplitude is
superimposed one V. Find the amplitude of
output sine wave signal.

Draw the circuit for CB amplifier and find expression for

Draw the T equivalent circuits of commaon source am-

plifier with a source amplifier with a source resistance

and obtain the expressions for R, R_,, and G,.

An inverting amplifier has feedback resistor R,=500K01

and R, =5K(}. Find the amplifier circuit voltage gain,

voltage and input cumment if the input voltage is given as

.1 volts. Assume the OP-AMP to be an ideal one.
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